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giBlOHE T 5L

%50 ZREEERMS (5/12)

» QYT T

» Web POLREDIVFIVYDE
NREFA BHER
B NERABR

v

v



SEDT—V

% 6 [ 1888
> AVSAVBEIDIRT A
» PEREC TV ROE—
> 1BBIREL
> RS 1888
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AVSAVBEHYRT L

» ECHA RCHF20VIT7-ILOI—FDBE=Z—X

» I—HOEFCE>/BRTEIRRNUTHBEICEITD
> LIOXVYS -\ T —IICEBEBAIRNMETTER

The New Marketplace

Head

Popularity

Long Tail

Products

source: http://longtail.com/
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http://longtail.com/

SO RT LD

» 1Y DITEZEER U TERBEREZ TR L TBE#NICRER

» ECY1 b~ BERRECREREL SHEOBELZ B
BR

» ECHA METTRIRRTE HREFERZEANDISGAS

F—HIR—ZADED A
> PATLR=R: PATLASECBRZTREDD
» I—HPR-R: AL CBREFEHD
» ERRICEFINSZBHEHOETED
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» AVTIYNR—R:
» I—YHBECFIBURETATLADSEUTP A T L%EHE
> PATLADBEYEDEE
> EIRPBOSRAYVVICEBTIL-TL
> JOI\DDIL—IUE
> LEEREVIEVWEE TOHEICKR DO NS, BAEHMEL
> BRI ILF VT amazon ZIZUHELFIBESNTLDS
» BEREN SBEEBOHELIEESE
» FAULEDA - OEREHNSHBEDS VW1 TLAZHERE
» B @BRIO P A T AICEET BB IEHERN
» BUDFRWHER (serendipity) DAREM
> BN X0$8%5: R/I\LAHEER URE
» PATLAPI—TICEAT IERIDZRRIERN SHERTE,
WEEITD
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5ol

DY—=T T« VILEDE(L

» =T T4 VILE
» FEI v VILICEEKEFOAI—S (TR oTELE
» CEMNRPERNHRDE L
» PRRY D=2
» RV NASRELSEEEPNT IR Y NASEREY—ER
» Bl BADBET DA NN\ F—LEEAND
» Real Time Bidding
» RY NLRERZEUPIIALATA—DY3 VT BEHEH
» KERERMTDIA DY VERSE
> 1I-VORMBR. TEEEERRE (cookie 2 & 285H)
» KEREAMLTDA—DY3VENE
> RESINBERZTICANMISZRD D
» US—SF o0 BECBROY A MESBRILEI—FICTHT
=N
» RTBEDTSY k74— A: SUBA—F—-DZIEER
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#8827 « LY > (collaborative filtering)
» BHOT7ILIYU XLDEFE

» VYT IV REEEN T

» 1-YEOEEEZE DB —TZHE
» B ORUEZEMCET A TLDEFHRYEFHE

Bl: -V OREEE

item
user | a c d e f
A 1 1 1
B 1 1
C 1
D 1 1 1

A EHEEEVNI—YHS A DE>TLWRWPATFTADRIFP%#EE

similarity item

user o b c d e f
A 1 1 1

S 0.88 0.88 - 0.88
C 0.81 0.81 - -
K 0.75 - - -
F 0.73 0.73 0.73 0.73
score 2.50 0.73 1.61

44



f5l: Netflix Prize

» KEDAYS4Y DVD LY#ZILF—EXR Netflix D7 LTV
ZLIVTRE
> AHOAYSAVEBOY AT ADMREZ 10%M@ EI NI 100
ARILDESR
» DVTFRANAT—9tY
< user_id, movie_id, date_of _grade, grade >
» NL—ZVIRBRT—tv: 1 REOFHERID 7
» SHBEART—5 v bk 280 AHDOFHER D7
» BEZABOEAT—Y Y~ 140 B
» RRBTF—Ytyh: 140 A

» MRRAID7 (FBRDOBVEDFII—FRE (10%LEB1F)
» JVTRE 2006 F(CHBFROD. 2009 FI(THKT
» TSN\ —ERETH
» BRftenicI—YZtoREHHY  ~O1-—F v FY
2 olge
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EPEEIC DT

W3\ 37 EERE
» 1—2 U v ~EBRE (Euclidean distance)
» 1ZED—2 ) v REERE (standardized Euclidean distance)
» SV IV RF—BRE (Minkowski distance)
» Y/\S/ EXEERE (Mahalanobis distance)
$EUE
» I\ FURD MLOFEBE
> n RITRD SILOFRBUE
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PEREDIEE

ZEELED 2 R (z,y) EOERE d(z,y):
FEBME (positivity)

XM (symmetry)
d(z,y) = d(y,x)

=AFRER (triangle inequality)

d(z,2) < d(z,y) + d(y, 2)
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1—2 ) w REEE# (Euclidean distance)
LRICHEREE WA EI—O Uy RIEREZEIET
n RITZE/ETD 2 K (z,y) DEERE

n
Z (Tk — yr)?
\k:l

(x1,y1)

distance

(x2,y2)

X

euclidean distance in 2-dimensional space
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SHEI—D Uy B
(standardized Euclidean distance)

> BHRBETESDESOAZTINERDE, BRINFEER(TD
> FCT, A=y R =S EHONDELTEl > TIERIL

0 20 40 60 80 100 120 140 160
x
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SV T RF—FERE (Minkowski distance)
11—V v ieREZE—fR1L
> INSA=F r AREVEE, RTHICE SHNBRVEE (RO
ABDY3—hhy b)) ZERT HIERH

d(z,y) = (3 o — wel)7
k=1

> r=1: YVI\vH bk
» NIV TR 2 DOXFIIBDRE UMEDXFDA—EE
» BIZ(E, 111111 & 101010 DINZ VU pEE#(Z 3

> r =2 1—2 v RibEt

Manhattan distance vs. Euclidean distance
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RO RLD /)L (vector norm) (1/2)

NIRID/ IV RO BILDORE
||z|| where z is a vector

NIR D lp-/ IVARSYIDRF—ERTERSIND

Izlln = /> le:|
%

lp-norm: N2 ~JLD 0 TRWLWERDE

llzllo = #(i|z: # 0)
l1-norm: ZHDF0

lzlls = |l
2

lzllz = /> leil
[

[#lloc = maz(|z:])

lo-norm: 21— v Ribgt

loo-norm: NI N LORKER
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RO RLD /)L L (vector norm) (2/2)

Bl: ROV z=(1,2,3) IZHLT

llllo 3 = 3.000
ll||1 6 = 6.000
Izl /14 = 3.742
llzlls  62/3 =3.302
llzlla 247 = 3.146
12|00 3 =3.000

=25  |p=.354
4% p=2.828 p=4 p=5.657 | p=8

unit circles of I,-norm with various values of p
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NI\S/ EREERE (Mahalanobis distance)

ZHE RN D 2IHE(C. BEZER UIciERE

mahalanobis(z,y) = (z — )Xz —y)T
TZT YT IHADBATI DTS
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FAUE

BE
> SEDDT—YDETVIESDHIERIR
BUEOMHE
FEEM (positivity)
0<s(z,y) <1
s(r,y)=lex=y
XFRME (symmetry)
s(z,y) = s(y, z)
=AFRER (triangle inequality) [F—AZICFEBEICEB TERSARL
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INAFURD RLOFELUE

Jaccard &%

> 1 OEIRDDRVINA FURD MLETOBLEICEDND
> XEPICHIRT DEEBNSXEDELUEZRIIHERE

» ZLOEFBEBREFMAEBICHERLEBN = INSEFER LW
> 2DDNI MLDBBZRDOIICEFRERD K S &S

vector y

1

0

vector x

Jaccard REUILLTTEREND

J =

=

ni1

n10

no1

ni

100

n11 + N1o + not
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n RITND ~ILORELE

—RRDARS LD
» XEOELECHREESERT 31805
DA B
» RO KD x, y D cosine ZEND., @EN—:1. BEXR:0. @
HAIE:-1
> RO MLOES TR — AEXFEELAL
cos(z:9) = [l

=3 la:kyk C NI RLDE
=2t =z -z RIRILORSE

Ty
[l
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I VRBE DBIE

r=3205000200
y=1000000102
z-y=3x14+2x1=5

lz]l = V3% 3+ 2%2+ 55+ 22 =42 = 6.481

lyl = VI*1+1x1+2%2=+6=2449

cos(x,y) = samrogaas = 0-315
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A & 1ERIRE

> BRI 2 DORBOBRERDDICHR
> X8 B X
> Y ZNICHLT IR Y OfE
> BARITHD DS
> X EY CEENH DD
> 48R3, EEM18R. & 018R
> ABDEEDH ZH

> 1BRIMRE: HBRADAM (IER) LS ZERITE

Bl: (£) ED1BE 0.7 (P) #&4BEI 0.0 (B) BD1EE -0.5
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18E8 (correlation)
» HHE (covariance):

n

Ozy = — Z(wl - 'f)(yl )

i=1
» HBEIREL (correlation coefficient):

oz, _ >y (@i =) (yi — 9)
020y /> (xi — 222 (yi — 1)

Pry =

> BRI HDRZEERIELIEED, -1D5 1 DEZERD,
> BEREEANEBOTZEZAES<R(TD, BMHEHAL.
AN(EZtEEI DE,
> 1BR9RSMR & WREIR
> 1BRIRSFRL RRBERERT L (ERSRL,

> RADE 3 DHBOERIEFET 256
> BRBEAR
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FRESRMDETE (1)

{mZEF A0 (sum of squares)

n

Swi—2)? = > (2F - 223 +7°)
i=1 i

i=1

R0 (sum of products)

n

D@i—)(yi -9 =

i=1

n n n
o Ciza =) (Cie1 vi)
= E:xiyifnxyZE:wiyi,%

n

24
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REFEROHE (2)

18RRI (correlation coefficient)

oy (@i -3y - 7)

owoy VO (e — )2 (v — §)?
Sor Ty — nEy

V(i w2 = na?)(S, v? - ng?)

Pzy

Z?:l TiYi —
Ty ®i)? n 71 vi)?
Vo, o2 - By s 2 G0l v
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fth DIERIFREL

» E7YV Y OERBEHRE (Pearson’s product-moment
correlation coefficient)
> BICEBRBEVWZREINZEET (ZOBRETHEK)
> |BRIHERIFREL (rank correlation coefficient):
» BULEBZ/HOT—Y Y MW T DB TDEVNEZD
ST
> ZAETP Y DIEAIBRHRE
> 7V R—)LOIBRERIREK

> ZDDIBEMRE

26
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R 1 RRVSVVUEERBEOZTOY ~

» RSV ETF—I9DNSnH%EAND
» T—%: 2014 FORRVY SV VDK
» http://www.tokyo42195.org/history/
» JILNSVYENEDRY hF AL (ARY A ALATEEW) 5EE
& 34,058 A
» REIEB
1. 2FEE. BREE. WEREEZNZEND. TEHBOFE
8. BERE. PRIE
2. TNZFNOTERBOERA NI S A
» 3DOERNTSLZERNRDORICEL
» EVIBIX 10 2(CT B
» 3D070Y MNILBETEDLSICBRESHESR L
3. #Fn2no CDF 0w
» O0&EDORIC3 DD CDF 7Oy EEL
4. ATV 3V ZOMOERT
5. BER
> FT—IDSTmHIEND LT
» RBREFER: LIR—~Z0EDD PDF 7741 JLICLT SFC-SFS
HhoiRE
» B Y): 2014 £ 5 A 16 B (extended)
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%7‘??5 v ‘J7_'“—9

# bib# Name Category 5km 10km 15km 20km 25km 30km 35km  40km FinishTime
1 "FI)LA PAJL" M 0:14:50 0:29:37 0:44:33 0:59:42 1:14:48 1:30:01 1:45:32 2:01:37 2:09:02

2 "~3 HFt" M 0:14:51 0:29:38 0:44:34 0:59:43 1:14:50 1:30:01 1:44:57 1:59:19 2:05:56
3"ﬂFl:"Ij74’7JL"Mo14510293804433059421144813000144561595420656

4 "¥KD5 YZ—" M 0:14:50 0:2
5 "WYX E—=%—" M 0:14:50 0:29:
6
7
8
9

31144913001145032002720738
059431145013001144571591820541
:44 34 0:59:43 1:14:50 1:30:01 1:44:57 2:00:00 2:07:36

2

"FLY FLY" M 0:14:50 0:29:
"FaVI\ FAOYU" M 0:14:51 0:29: 0
"ETHYYT I3TU—" M 0:14:52 0:29:39
"D2RVYY EVRILY 2

10 "P2ZRX0OY L K" M 0:14:54 0:30:12

11 "T=3AhFY PTFSEAL" M 0:14:54 0:30:03 0:45:16 1:00:50 1:16:31 1:32:27 1:48:33 2:05:00 2:12:07

21 "BER #" M 0:14:51 0:29:38 0:44:32 0:59:42 1:14:50 1:31:56 1:54:16 2:20:15 2:30:56

22 "thA ZRER" 7

23 "YaA HYAS5Z" M 0:14:51 0:29:38 0:44:33 0:59:42 1:14:49 1:30:02 1:45:42 2:01:52 2:09:33

24 "BJIl KEE" M 0:14:51 0:29:38 0:44:33 0:59:42 1:14:49 1:30:13 1:46:01 2:02:16 2:09:27

> bib#: By VES
> 1-43:887F 101-235:TJ— b 10000 &:EEEHETF 20000-50000 &:—fxS
H0 60001:4° R b 70000 &:F v UF 1S5V F—
> Name: " "TEENTNS (UTF-8)
> Category: M(Men)/W(Women)
> FBELETEROTVD
> Ry RYA L BRNICHEHE 2T RY— SO S DR (5km SEDRTU Y L ETE
EBFR)
> TEBEZHHULS, MBDE>TLWBINFIVvITRIL
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RE 1R P, DERE, PREOE

» DB TOHE (WEXTEDIEERDUERD)

n mean stddev  median

all 34,058 282.7 56.8 281
men 27,141  277.2 56.7 275
women 6,917 304.0 51.8 306
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T—YMERARO VT ~F

# regular expression to read finishtime from tokyomarathon2014.txt

re = /(\d+H)\s+".+7"\s+(M|W) (?:\s+(\d:\d{2}:\d{2})) {9}/

# regular expression to read hour:minute:second

re_time = /(\d): (\d{2}): (\d{2})/

ARGF.each_line do |linel
if re.match(line)
bib, category, ftime = $~.captures
if re_time.match(ftime)
min = $1.to_i * 60 + $2.to_i
print "#{min}\t#{category}\n"
end
end
end
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e 1 B2 TERBOERNT S A

> 3DDERRTSLZERRDRICEL

> VIR 10 DT D
> 30070V IR TEDLSICBEESEDEDZE

count

count

count

2500

2000
1500
1000

500

T T T

]

i

P

150 200

250

300 350 400
finish time (minutes) with 10-minute-bin

]

il

150 200

250

300 350 400
finish time (minutes) with 10-minute-bin

2500
2000
1500
1000

500

T T T

ST T

T

L

100

150 200

250

300 350 400
finish time (minutes) with 10-minute-bin
TERBER TS A 24 (L) BF (P) ZF (T)

450
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B 13 CDF 7OV~

» OEDORIC3IDOTOY hEEL

Jo ///

L f’/
8 /7
s
0.4 /
/ /
Py
0.2 o
VY all ——
S men ——
omen ——
0 .

100 150 200 250 300 350 400 450
finish time (minutes)
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giED;EE: CCDFO’Owv ~
EILMBIETEL JAIST H—NO7HoEL205DIVFIVE
DFP O RA¥N%H%E CCDF JOv CF 3

% ./count_contents.rb sample_access_log > contents.txt
% ./make_ccdf.rb contents.txt > ccdf.txt

0.1

0.01

0.001

CCDF

0.0001 F “2

1e-05 |

1le-06
1

10 100 1000 10000 100000
request counts
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IVTFIVBOT7 VR EMEROU T~

# output: URL req_count byte_count
# regular expression for apache combined log format
# host ident user time request status bytes referer agent
re = /7(\S+) (\S+) (\S+) \[(.*?)\] "(.*?7)" (\d+) (\d+[-) "(C.*x7)" "(.*7)"/
# regular expression for request: method url proto
req_re = /(\w+) (\S+) (\s+)/
contents = Hash.new([0, 0])
count = parsed = 0
ARGF.each_line do |linel
count += 1
if re.match(line)
host, ident, user, time, request, status, bytes, referer, agent = $”.captures
# ignore if the status is not success (2xx)
next unless /2\d{2}/.match(status)
if req_re.match(request)
method, url, proto = $~.captures
# ignore if the method is not GET
next unless /GET/.match(method)
parsed += 1
# count contents by request and bytes
contents[url] = [contents[url][0] + 1, contents[url][1] + bytes.to_il]
else
# match failed. print a warning msg
$stderr.puts("request match failed at line #{count}: #{line.dump}")
end
else
$stderr.puts("match failed at line #{count}: #{line.dump}") # match failed.
end
end
contents.sort_by{|key, value| -value[0]}.each do |key, valuel
puts "#{key} #{value[0]} #{value[1]}"
end

$stderr.puts "# #{contents.size} unique contents in #{parsed} successful GET requests"

$stderr.puts "# parsed:#{parsed} ignored:#{count - parsed}"
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IVTIVEDTPOLERE

% cat contents.txt
/project/linuxonandroid/Ubuntu/12.04/full/ubuntul204-v4-full.zip 25535 17829045
/project/morefont/xiongmaozhongwen.apk 10949 13535294486
/project/morefont/zhongguoxin.apk 9047 9549531354
/project/honi/some_software/Windows/0Office_Plus_2010_SP1_W32_xp911.com.rar 5616
/project/morefont/fangzhengyouyijian.apk 5609 2879391721
/pub/Linux/Cent0S/5.9/extras/i386/repodata/repomd.xml 5121 12213484
/pub/Linux/Cent0S/5.9/updates/i386/repodata/repomd.xml 5006 10969621
/pub/Linux/Cent0S/5.9/0s/1386/repodata/repomd.xml 4953 6832653
/project/npppluginmgr/xml/plugins.md5.txt 4881 1369547
/project/winpenpack/X-LenMus/releases/X-LenMus_5.3.1_rev5.zip 4689 990250462

/pub/Linux/openSUSE/distribution/12.3/repo/oss/suse/x86_64/gedit-3.6.2-2.1.2.x8
/pub/sourceforge/n/nz/nzbcatcher/source/7C=D;0=A 1 1075
/ubuntu/pool/universe/m/mmass/mmass_5.4.1.orig.tar.gz 1 3754849
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POLR¥%Z CCDF [CTB2RVUT K~

#!/usr/bin/env ruby
re = /"\S+\s+(\d+)\s+\d+/

n=0
counts = Hash.new(0)
ARGF.each_line do |line]
if re.match(line)
counts[$1.to_i] += 1
n +=1
end
end

cum = 0

counts.sort.each do |key, valuel
comp = 1.0 - Float(cum) / n
puts "#{key} #{value} #{compl}"
cum += value

end
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7O AYOBHEIEEEL

cat ccdf.txt

84414 1.0

9813 0.2315731022366253
5199 0.14224463601358184
3034 0.0949177537254331
1636 0.06729902688137779
1083 0.05240639764048316
663 0.04254776838138241
495 0.03651243024769468
367 0.03200640856417214
10 274 0.028665580366489807

© 00N O WN =R

5616 1 3.6412296432475344e-05
9047 1 2.730922232441202e-05
10949 1 1.8206148216237672e-05
25535 1 9.103074108174347e-06
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gnuplot 22 U7~

set logscale
set xlabel "request counts"
set ylabel "CCDF"

plot "ccdf.txt" using 1:3 notitle with points
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SEOEE: BEFREOHE

» T—YDOEBEREESET S

» correlation-data-1.txt, correlation-data-2.txt

80 100

80

60

a0

20

0 0
0 20 40 60 80 100 120 140 160 0 20 40 60 80 100 120 140

data-1:r=0.87 (left), data-2:r=-0.60 (right)
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BE: BERKOHER IV T

# regular expression for matching 2 floating numbers

re = /([-+1?\d+(?:\.\d+) ?)\s+([-+]1?\d+(?:\.\d+)?)/

sum_xx = 0 # sum of x"2

sum_yy = 0 # sum of y~2

sum_xy = 0.0 # sum of xy

cc = 0.0 # correlation coefficient
n = 0 # the number of data

0.
0.

ARGF.each_line do |linel|
if re.match(line)
x = $1.to_f
y = $2.to_f
sum_x += x
sum_y += y
SUm_XX += X*¥2
sum_yy += y**2
sum_xy += X * y
n+=1
end
end

denom = (sum_xx - sum_x**2 / n) * (sum_yy - sum_y**2 / n)
if denom != 0.0
cc = (sum_xy - sum_x * sum_y / n) / Math.sqrt(denom)

end

printf "n:%d r:%.3f\n", n, cc
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—_

» T—YDRELEZETD
» TESWNTOISIVY,) 28DSET—4
» 7 AD—HOREEFHER 37 scores.txt

% cat scores.txt

# A dictionary of movie critics and their ratings of a small set of movies

’Lisa Rose’: ’Lady in the Water’: 2.5, ’Snakes on a Plane’: 3.5, ’Just My Luck’: 3.0, ’Superman Returns’:
’Gene Seymour’: ’Lady in the Water’: 3.0, ’Snakes on a Plane’: 3.5, ’Just My Luck’: 1.5, ’Superman Return:
’Michael Phillips’: ’Lady in the Water’: 2.5, ’Snakes on a Plane’: 3.0, ’Superman Returns’: 3.5, ’The Nig]
’Claudia Puig’: ’Snakes on a Plane’: 3.5, ’Just My Luck’: 3.0, ’The Night Listener’: 4.5, ’Superman Retur:
’Mick LaSalle’: ’Lady in the Water’: 3.0, ’Snakes on a Plane’: 4.0, ’Just My Luck’: 2.0, ’Superman Return:
’Jack Matthews’: ’Lady in the Water’: 3.0, ’Snakes on a Plane’: 4.0, ’The Night Listener’: 3.0, ’Superman
’Toby’: ’Snakes on a Plane’:4.5,’You, Me and Dupree’:1.0,’Superman Returns’:4.0
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> BELRHIE: T-IDDRBTED
» —BICIBEUTDELSICRD

#name: ’Lady in the Water’
3.

Lisa Rose:

Gene Seymour:
Michael Phillips:
Claudia Puig:
Mick LaSalle:
Jack Matthews:
Toby:

2.
3.
2.

3.
3.

5
0
5

0
0

NN N R AN

OO O U1l o Uy,

’Snakes on
3.0 3.5
1.5 5.0

- 3.5
3.0 4.0
2.0 3.0

- 5.0

- 4.0

a
0
0
.0
5
0
0

W wd > ww

Plane’

’Just My Luck’

’Superman Returns
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» J5 A VELEZS > TA—EOEMUETIZES

% ruby similarity.rb scores.txt

Lisa Rose: 1.
.959
.890
.921

Gene Seymour:
Michael Phillips:
Claudia Puig:
Mick LaSalle:
Jack Matthews:
Toby:

(el el NeNeNe]

000

982

.895
.708

0.
.000
.950
.874
.962
.979
.783

O O O O O -

959

OO OO r OO

.890
.950
.000
.850
.929
.967
.693

O OO OO O

.921
.874
.850
.000
.875
.816
.695

OO O OO O

.982
.962
.929
.875
.000
.931
727

O, OO O OO

.979
.967
.816

931

.000
.822

= O O OO OO

.708
.783
.693
.695
LT27
.822
.000
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EOESHER I U T (1/2)

# regular expression to read data

# ’name’: ’title0’: score0O, ’titlel’: scorel,

re = /7 (.+7)7:\s+(\S.%)/

name2uid = Hash.new # keeps track of name to uid mapping
title2tid = Hash.new # keeps track of title to tid mapping

scores = Hash.new # scores[uid] [tid]: score of title_id by user_id

# read data into scores([uid] [tid]
ARGF.each_line do |linel
if re.match(line)
name = $1
ratings = $2.split(",")

if name2uid.has_key?(name)
uid = name2uid[name]
else
uid = name2uid.length
name2uid[name] = uid
scores[uid] = {} # create empty hash for title and score pairs
end
ratings.each do |ratingl|
if rating.match(/’ (.+7)’:\s*(\d\.\d)/)
title = $1
score = $2.to_f
if title2tid.has_key?(title)
tid = title2tid[title]
else
tid = title2tid.length
title2tid[title] = tid
end
scores[uid] [tid] = score
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EOESERIUT - (2/2)

# compute cosine similarity between 2 users
def comp_similarity(hl, h2)

sum_xx = 0.0 # sum of x"2

sum_yy = 0.0 # sum of y~2

sum_xy = 0.0 # sum of xy

score = 0.0 # similarity score

hi.each do |tid, scorel
SUM_XX += Score*x2
if h2.has_key?(tid)

sum_xy += score * h2[tid]

end

end

h2.each_value do |scorel
sum_yy += score*x2

end

denom = Math.sqrt(sum_xx) * Math.sqrt(sum_yy)

if denom != 0.0
score = sum_xy / denom

end

return score

end

# create n x n matrix of similarities between users
n = name2uid.length
similarities = Array.new(n) { Array.new(n) }

for iin 0 .. n -1
printf "%-18s", name2uid.key(i) + ’:’
for jin 0 .. n - 1

similarities[i] [j] = comp_similarity(scores[i], scores[j])
printf "%.3f ", similarities[i][j]
end
print "\n"
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KOFRBHRBT—5EY

> Movielens:
http://grouplens.org/datasets/movielens/
» SRYIREDNRRAULTWBHRAT ISV Y ITRT—5
tyhk
» 1—HOBREFHE: 100K, 1M, 10M DRI7PF—%
» udata: RIPF—%
> BICHERI-TOREBERPEREOBEBEROEINTVS

% head u.data
#user_id item_id rating timestamp

196 242 3 881250949
186 302 3 891717742
22 377 1 878887116
244 51 2 880606923
166 346 1 886397596
298 474 4 884182806
115 265 2 881171488
253 465 5 891628467
305 451 3 886324817
6 86 3 883603013
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http://grouplens.org/datasets/movielens/

XED

%5 6 @ 183
> AVSAVBEIDIRT A
» PEREC TV ROE—
> 1BBIREL
> RS 1888
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£ 70 ZEERRIT (5/26)
> TIRYIVYT
> IOV E B (geo-location)
> RFEL)R
> ERDO
» BB REO)R
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